Lecture 6 Integration and Grammatical Constructions Gilles Fauconnier

A basic function of grammar is to prompt for the construction of mental space
configurations during ongoing discourse. In particular, grammatical constructions are
typically templates for blending form and content. In this lecture, we will look in some
detail at causative grammatical constructions in English, French, and Hebrew. Grammar,
as it turns out, is a powerful compression tool. Understanding a language is having the
ability to decompress grammatical constructions in context. Typically, this depends on
the mastery of conventional blends and their creative application to novel situations. We
will show that this is equally true of the simplest constructions, such as noun-noun
compounds or "x of y", and the most complex ones commonly studied in linguistics as
syntax.

The Caused-Motion construction in English

Grammatical constructions are integration networks in which a simple syntactic/semantic
structure is integrated with a more elaborate semantic structure.

The emergent syntactic structure in the blended space is maximally simple, but the
overall emergent syntactic and semantic complexity of the full network (or array of
networks) is sharply increased.

The caused-motion construction in English recruits the simple structure NP V NP PP,
with the associated semantics of an agent (first NP) moving a patient (second NP) to a
location (PP), as in

(1) Jack threw the ball into the yard

Caused motion blends have the same superficial syntactic form:

(2) Gogol sneezed the napkin off the table

(3) The sergeant ordered the tanks into the compound

(4) Junior sped the car around the Christmas tree

In (2), Phil doesn't act directly on the napkin. He just sneezes and this causes a new
event, the napkin moving off the table.

In the (3), the sergeant gives orders to soldiers. A consequence of that event is the
motion of the tanks into the compound.

In (4), the little boy is not speeding at all. He just sits and triggers a remote control, so
that a second event occurs, the car speeding around the tree.



All these cases are different from each other and more complex than the basic form Jack
threw the ball into the yard. Complex emergent structure has been produced in the full
network.

But in the blended space, actions like sneezing, ordering, speeding are simple
indecomposable actions like "throw" or "carry."
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ACTS, CAUSE, MOVE all map to e in Input 1 (caused motion lexical verb)

—causal agent's action:
ACTS (sneeze) is projected to e'" in blended space

(2) Gogol sneezed the napkin off the table

[Gogol sneezes. The napkin moves off the table.] The syntactic form is the same as before, but the verb
corresponds only to the agent's action. Its frame semantics contains no object, and a fortiori no motion of
such an object.

—object's motion:
MOVE (speed) is projected to e" in blended space

(4) Junior sped the toy car around the Christmas tree.

[Junior presses remote control. Car speeds around tree.] Junior is not moving. The verb speed
corresponds to the car's motion, specifically to the manner of that motion.

—causality:
CAUSE (let) is projected to e'" in blended space

(3) The sergeant let the tank into the compound.

[Sarge signs a form or waves his hand or opens the door. The tank moves into the compound.] The verb
let does not specify Sarge's action or the tank's motion. It focuses on the removal of restraint and
enablement.

(5) He trotted the horse into the stable.
(6) He rolled the drum into the warehouse.
(7) He let the tank into the compound.
(7a) *He let the tank.
(7b) *He let.
(8) He forced the tank into the compound.
(8a) *He forced the tank.

(8b) *He forced.



(9) He waved the tanks into the compound.
(10) He carted the drums into the warehouse.
(11) He handed the boxes over the fence.
(12) He muscled the boxes over the fence.
(13) He ordered the tanks into the compound.
(14) He Houdinied the drums out of the compound.
(15) He trotted the horse around the park.
(16) He trotted the stroller around the park.
(17) He sped the car around the lot.
(17a) The car sped around the lot.
(17b) *He sped the car.
(17c) *The car sped.
(18) He brought the water to a boil.
(18a)%He brought the water.
(19) He turned the tomatoes into spaghetti sauce.
(19a)%He turned the tomatoes.
(20) Anger choked the life out of him
(20a) *Anger choked the life.
(20b) *4nger choked.

(21) "So far, the people of this small textile town in northwestern South Carolina
have been unable to pray Mrs. Smith's two little boys home again.” NYT.
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I boiled the pan dry. In the diffuse input, the causal chain runs from forgetting to
the invariant position of the burner knob, to the flow of gas, to the flame, to the
temperature of the pan, to the temperature of the water, to the level of the water, to the
dryness of the pan. The agent performs no direct or indirect action on the pan at all. But
in the blend, the compressed structure associated with the grammatical construction is
projected together with some selected participants from the diffuse chain of events in the
diffuse input. And so, in the blend, the agent is now acting directly on the pan.
Moreover, although the boiling of the water is an event and its cause was something the
agent did or did not do, there is cause-effect compression in the blend so that boiling is an
action the agent performed. He even performed it on the pan.

Clause Union constructions

In the caused-motion construction, the syntactic component comes entirely from the
input space of integrated caused motion, while lexical items come from the space of the
events associated with the causal sequence. But there are other constructions in which
the syntactic form used for the blend does not come entirely from one space, part of it
comes from the other space, and part of it develops specifically for the blend. Consider
causatives in French, which are formed using the verb faire ('do"):

(22) Pierre nourrit Paul.
NP V NP
(Pierre feeds Paul.)

(23) Pierre fait manger Paul.
NP V V NP
[Paul is the agent of 'manger']

(24) Pierre expedie le paquet.
NP V NP
(Pierre sends the package.)
(25) Pierre fait envoyer le paquet.
NP V V NP
['le paquet' is the object of 'envoyer']

(26) Pierre donne la soupe a Paul.
NP V NP aNP
(Pierre feeds Paul the soup.)

(27) Pierre fait manger la soupe a Paul.
NP V V NP aNP
[Paul is the agent of 'manger’, 'la soupe' is the object]



It is apparent that the causative forms are superficially similar to basic transitive and
ditransitive forms in the language.

The semantics is roughly:
CA (causal agent) CAUSE [ EA (event agent) ACT ( upon patient) ( to recipient ) |

French, like English, has three basic constructions corresponding to integrated events
involving causation:
Transitive: Syntax: NP V NP
Roles: CA E O
[notation: O for "object," IO for "indirect object," E for an event or state.]

[example: Marie nourrit Paul. Does not admit an 10: *Marie nourrit Paul a Pierre.
E includes causal action and resulting event (Pierre eats)]

Transfer: Syntax: NP V NP aNP
Roles: CA E O 10

[example: Marie donne la soupe a Paul.]

Optional Transfer: Syntax: NP V NP (aNP) (par NP)
Roles: CA E O (I0) (EA, means)

[example: Marie vend des livres (a Paul) (par un intermédiaire)]
[a middle construction is also possible here, that doesn't express the CA: Ces livres
se vendent par un intermédiaire. ]

The causative (with faire) is a means for French of expressing integrated causal
sequences that go beyond the basic types. This is achieved through a Blend of the
extended causal sequences with the basic constructions. Because there are three Basic
types, we find not just one, but three blends.



Transitive Blend: the conceptual causal sequence

[ CA actsupon O] CAUSE [ EA event | EA

blends with the Transitive Input [ CA E O ]

o
[

The counterpart mapping is straightforward: CA onto CA, O onto O, except for E
which is mapped onto two counterparts, 'act' and 'event.' The blend inherits CA and O
from integrated Input 1, and 'act' and 'event' from Input 2:




Now consider a second Blend: causal sequence with the Basic Transfer construction:

Transfer Blend: the causal sequence
[ CA act] CAUSE [ EA event O]
blends with the Transfer construction [ CA E O 10 ]

CA and O have unproblematical counterparts CA and O. The counterpart of EA is
the indirect object 10O, simply because in the prototypical case, the IO is the agent of the
caused event, e.g. Bill feeds the soup to Mary = [Bill acts] CAUSE [Mary eats]. And, as
in the Transitive Blend, E maps both to 'act' and 'event.! The Blend therefore acquires the
role structure [ CA act event O IO ] (ex. 27). 'Paul' this time is a true IO in the blend,
and so the clitic 'lui' is possible. However, since the Blend, like the Basic Construction,
has only one IO (this is independently a general constraint on role structures in French), if
the caused event in the causal sequence happens to have an indirect object of its own, it
will have no position to map onto (IO is already taken), and a corresponding IO clitic
pronoun will be excluded, as in the ungrammatical (28):

(28) *Marie lui fait envoyer le paquet a Paul.
(with Paul sender of parcel)

Finally, the Optional Transfer Basic Construction allows a third Blend:

Optional Transfer Blend: the causal sequence
[ CA act | CAUSE [ event O (I0) (EA =means) |
blends with the Basic: [ CA E O (I0) (means) |

The counterpart relations are straightforward, and the syntax for the Blend is NP
faire V. NP (a NP) (par NP). This time, there is an IO position in the Blend, and
furthermore it is mapped onto the IO position of the resulting event in the causal
sequence. This predicts that corresponding clitic pronouns will be acceptable, as
confirmed by examples like (29) and (30):

(29) Marie lui fait envoyer le paquet par Paul. (lui = recipient)

(30) Marie lui fait téléphoner. (lui = recipient). "Marie has
(someone) call him."



NP NP Constructions

water land

skipper driver

course

yacht

(31) land yacht
(32) jail bait

"Jail bait" is an example of a two-word nutshell that prompts for compression through borrowing of the
inner-space relationships in the fishing frame. In that compression, Time is scaled down and a diffuse
interpersonal interaction with many actions is compressed to a single action—swallowing the bait. This
compression can create relations in the blend, such as the attribution of intentionality to the young woman.
There is also Highlights Compression —the sequence in the human story of perception, greeting, seduction,
doing the deed, having it become known, being arrested and tried and sentenced and jailed is all
compressed in the blend into seeing and doing, where, because taking the bait is automatically taking the
hook, there is no separation between committing the act and being punished. This is an intense Cause-
Effect compression. In the blend, the Effect is literally in the Cause because the hook is literally inside the
bait. "Jail bait" is said as advice: the compression is meant to focus the man on the Effect by making it part
of the Cause, and thus give him powerful Global Insight.
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